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i @ H!:I bon so thap phan, thu tu cac phép toan

Tén: Ngay thang: Piém:
2-5,7-3x2, 1= 5,5—-4,8+5,9%x2,9=
3,2-6,9-5,5x6,4= 12x5,3+4-5,7=

6,5+5,7-4,6x5,1= 5,1-6,2—-4,3x3,3=

4—-4,8x4+3,6= 2,9+6,1-6,2x5=

4—-15%x5,7+3= 10x2,3+5-6,4=
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i @ E‘!ﬂ bon so thap phan, thu tu cac phép toan

Tén: Ngay thang: Piém:
2-5,7-3x2,1=-10 5,5—-4,8+5,9%x2,9=17.81
3,2-6,9—-5,5%x6,4=-389 12x5,3+4-5,7=10.2
6,5+5,7-4,6x5,1=-11.26 5,1-6,2—4,3x3,3=-15.29
4-4,8x4+3,6=—11.6 2,9+6,1-6,2x5=-22
4—15x5,7+3=-245 10x2,3+5-6,4=-138
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